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Use of ‘Too’ and ‘To’ 

Too is an adverb and signifies more than enough – There are too many people. 

To is a preposition and can indicate the direction of something or express the 

purpose of an action – The distance from here to the main road.  

 

Q. Rewrite the sentences with the correct word from the options. 

a. The schools have sent the results (to/too) the students. 

_____________________________________________________________________ 

b. There are usually (to/too) many accidents on the busy roads. 

_____________________________________________________________________ 

c. She is going (to/too) the library. 

_____________________________________________________________________ 

d. The preparation for exams is (to/too) worrying. 

_____________________________________________________________________ 

e. The journey to the city from the suburbs is (to/too) long and tiring. 

_____________________________________________________________________ 

f. There is currently no transport (to/too) the city. 

_____________________________________________________________________ 

g. Prices are currently (to/too) high due to inflation. 

_____________________________________________________________________ 

 

 

 




